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Section— A

1. Answer any five questions :

(a) Find out the opportunity cost of a policy to reduce global

warming. Do you think that the opportunity cost will be same for all

i B
the countries? 2

(b) “Digitisation would help transaction accounting in India” 3

Evaluate whether the statement is Positive or Norm.ativc. '
(c ) (i) What do perfectly elastic and perfectly inelastic
_ curves indicate about the behaviour of the buyers ?

(ii) Do you think that price clasticity of demand would be greater

for Car Industry as a whole or for Maruti 800 of the Maruti firm? 2+2

(d) Two in a group of five (05) daily
news papers and three (03) others borrow
in this case appears to be a public good to the borrowers =
agree?

(¢) A crop surplus pushes the Government ;
support for the farmers, but the farmers refuse to accept!
the event.

demand

passengers in a train buy

hem to read — News paper
Do you
4

(o declarc a price
{ — Analyse
4
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(f) “*Marshallian demand curve is always unitary elastic” — Do
you agree? Justify. 4
() Country A can produce both of the goods X and Y with lower
amount of resources than Country B. Will it be a rational decision on
the part of Country A if it disagrees to enter into a trade relation with
country B? | 4
(h) A natural open take in a heavily populated village is a common
property resource and all the villagers collect gallons of drinking
| water for daily use. Still the problem of tragedy of commons does not
. take place. — Why? 4
‘ Section - B

Answer any five questions
2. Italy and Greece both produce loaves of bread and bottles of
olive oil. Suppose that an Italian worker can produce 10 loaves of
. bread or 5 boftles of olive oil per hour. Suppose that a Greek worker
. produces 8 loaves of bread or 8 bottles of olive oil per hour.
. (a) Which country has the absolute advantage in the production
- of cach good? Which country has comparative advantage?
. (b) IfItaly and Greece decide to trade. which commodity will Ttaly
trade to Greece? Why?
~ (¢ If a Greck worker could produce only 5 bottles of olive oil per

“ f;bhour_. who will benefit from trade? Explain. 24249
" 3.(a) Why is a subsidy called a negative taxation? 2

. (b) What will be the impact of a subsidy on the quantity consumed
in a frecly competitive market? 1

~ (c) If the demand curve is perfectly elastic. what will happen to the
g iarket price and find out whether the consumer or the producer will
benefit more from the subsidy. 3
4. Since bread and butter are often caten together, they are
‘complements.

(a) Suppose it is observed that the equilibrium price of butter and
the cquilibrium quantity of breads have risen. What could be
tesponsible for this pattern —a fall in the price of flour or a fall in the
price of Jam? Explain your answer using diagram.

(b) Now suppose the equilibrium price of butter has risen and the
8quilibrium quantity of breads has fallen. What couid be responsible
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for this pattern —a rise in the price of flour or a rise in the price of Jam?
Explain your answer using diagram. 343
5. Evaluate following two statements :
Do you agree? Why or why not?
(a) A tax that has no deadweight loss cannot raise any revenue. 3
(b) A tax that raises no revenue for the government cannot have

any deadweight loss. 3
6. Suppose the demand and supply curve for a good is :
x4 =100-06p
xt-L=i4dp

Suppose the government places a subsidy of Rs. 5 per unit of the
good sold. Find the equilibrium quantity, the price paid by buyers.
the price received by sellers and the deadweight loss due to the
subsidy. 1+1+1+3

7. There are three industrial firms in Tangra.

Firm | Initial pollution level | Cost of reducing pollution by 1 unit

A 50 units Rs. 350
B 70 units Rs. 450
C 90 units Rs. 300

The government wants to reduce pollution to 150 units, so it
gives each firm 50 tradable permits.

(a) Who sells permits and how many do they sell? Who buys
permits and how many do they buy? Why are the buyers and sellers
willing to do so ?

(b) What is the total cost of pollution reduction in this snuallfn;

I+

8. Suppose a market consists of 3 consumers A, B and C where
individual demand functions are gl\ en as:

A:P=35-05Q,

B:P=50-0.25Q,

C:P=40-2.00 QC 3

(a) Find out the market demand for the commodity. €

(b) Find out the equilibrium price and quantity W hen the Supp®
function is given as :

")

Qs=40+3.5p.
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9. Four roomimnates are planning to watch movies and can’t decide
how many to watch. The following is their willingness to pay for each
film (inRs.) :

Anjan Saswati Paoli Joy
First Film 7/- 5/- 3/- 2/-
Second Film 6/- 4/- 2/- 1/-
Third Film 5/- 3/- 1/- 0
Fourth Film 4/- 2/- 0 0
Fifth Film 3/- 1/- 0 0

(a) Within a hostel room is the showing of a movie a public good 7 2
(b) If it costs Rs. 8/- to rent a film CD, how many CD should the

 roommates rent to maximise total surplus? 2

(c) If they split the cost of renting CDs equally, how much surplus

' does each obtain from watching the movie ? 2

FIRST PAPER -2017
Group—-B
(Macroeconomic Principles)
Full Marks - 50
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Section— A
Answer any five questions

1. Calculate the Net Domestic Product at factor cost (NDP ) and
National Income (NI) by Income and Output Methods on the basis of

the following data :
Z (in crores)

(a) Value of Output g 2400
(b) Value of Intermediate Consumption 1200
(c) Subsidies 30
(d) Indirect Taxes 180
(e) Factor Income earned abroad 30
(f) Factor Income paid abroad 60
(g) Rent s 120
(h) Interest 15
(i) Profits f—’
j) Wages 3;8
(k) Depreciation 1')0
(1) Mixed Income 3(;0 4

(m) Employer s Contribution to Social Service scheme

’%

Al
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2. A hypothetical economy consists of three firms A, B, C. The
value of A's sales is T 100/- of which ¥ 40/- comes from Band ¥ 60/-
comes from C. Value of sales of B is ¥ 350/- which consists of T 200/-
from sales to C and ¥150/- to final consumers. C sells to final consumers
for ¥ 500/-. Find the total value of final output in this economy and

 total value-added by the three firms. -4

3. Suppose the value of MPC = 1. What will be the shape of the

. consumption function if there is no autonomous consumption? What
- will be the value of MPS ? Under usual assumptions, are the
- consumption function and saving function parallel to cach other?
- When they are parallel, what will be the values of MPC and MPS?

1+1+1+1
4. If Government raises tax rate. how will that affect Investment

' Demand function ? Would national savings increase if government
introduces social security schemes? 2+2

5. An underdeveloped country A and a developed Country B.

:bolh devote a similar share of GDP to investment. Country A
cexperiences growth rate of 7% while country B experiences growth
rate of 3%. How would you explain this peculiar situation? 4

6. What is the labour-force status of each of the following :
(a) On losing,job, a person was looking for another job but now

has given up hope of finding one.

(b) A postgraduate person sends out applications in search of a

ob.

() An office worker falls ill and is thus absent at workplace for
livo months.

. (d) A highly educated lady keeps herself engaged in bringing up
her child and finds no time to apply for a job of a teacher.  1+1+1+1
. 7.(a)If Cash Reserve Ratio is 10% and Cash Deposit Ratio is 80%
¥hat would be the magnitude of money multiplicr?

. (b) If CRR is 20% and new deposit is T100/- fill in the following

'.n le when all banks engage in deposit expansion : 242
" Liabilities Assets
- Deposit ? Cash 100/-
Loan ?
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8. In a hypothetical economy, consumers buy only two goods:
Sandwich and Potato Chips. Prices of these goods for 2014, 2015,
2016 are given below. Compute CPI for each year when consumers
buy 4 Sandwiches and 2 packets of Potato Chips. Calculate the

Inflation Rate during 2015 and 2016. 242
Year Price of Sandwich () | Price of Potato Chips (%)
2014 a 20 10
2015 25 12
2016 40 15

Section- B

Answer any five questions
9. What are the components of Aggregate Demand (AD) ? Other
things being constant, if Price level increases, how is that reflected in

- AD curve? What change will take place in AD curve if Government

’

Expenditure or Tax Rates change? 4+1+1
10. (a) Distinguish between :

(1) GDP,, and NNP__ (ii) NI and POI (Personal Disposable Inconie).

(b) Establish a relation among Private Saving, Private Investment,

Government Budget Surplus and Net Export. 4+2

11. How can Government policy regarding International Trade

and Foreign Investiment raise productivity and living standard? 6

12. Consumers generally choose their consumption levels keeping

in mind both current income and long-run income prospects — Explair}

)

13. Do you agree with the view that paying higher wages to workers

might be profitable for the firm? 6

14. What is ‘money illusion’ ? State the Central Banks balance-

sheet with the help of one single identity. 2+

15. Is inflation like a tax on holders of money? Is it a cost 10

society? 5+3

16 ““Investment is flow. not a stock ™’ — Explain. Investment depends

+4
on a number of factors — what are these factors? B
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(Statistics for Economics)
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(b) Nine candidates appeared before a sclection committee
consisting of two members for a post of System Analyst. If the rank
order of each of the two members is as follows, obtain the rank
correlation coefficient. Is there any agreement between the decisions
of both the members?

Candidates: V-l & ke GG D R D o € el 5 B |

Rank by Member 1: § N O Gat St SN YR s A4S |

Rank by Member 2 : b gt e Pl I RS N Y S
2+4

7. A market survey was conducted in four cities to find out the
preference for brand A soap. The responses are shown below :

Delhi | Kolkata | Chennai |Mumbai
Preferred 45 55 60 50
Not Preferred 35 45 35 45
No Opinion '5 3 5 5

(a) What is the probability that a consumer selected at random
preferredbrand A ?

(b) What is the probability that a consumer preferred brand A and
was from Chennai ?

(c) What is the probability that a consumer preferred brand A.
given that he was from Chennai ?

(d) Given that a consumer preferred brand A. w hat is the

probability that he was from Mumbai ? 1+142+2
8. Let X be a continuous random variable with pdf
+2x
f(V)— T for2<x<4
0 otherwise
Find mean and standard deviation. 2+41
with

9. (a) Find the variance of a symmetric binomial distribution
mean 10. (b) Suppose 5% of the inhabitants of a city are consumers 0
tea. Find the probability that a sample of 100 inhabitants W i1l contain
at least 2 consumers of tea. (Given, ¢ =0.007). 32
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1= 80x — 2x* — xy — 3y* + 100y

| GRR OIF A TeAW FAOI x +y = 12 e 8
| AL I 2 dv/dt + Sy =15 y(0) = 1
@e @ AT w2 CEEN

b | fEfERS zero sum game-F FRy (Feie Ay <9 ¢

Plaver I
Left Right
Up 4 -2
Player 1 :
Down o —1 8
ESRE

@A @9 plE a4reR Ted WS-
> | NH7 2 eorag oy AL TS 1 A 9 | IW T4
HY T, OIRCE A 76 37 G 7 LA, (@ T8 ©f IR T 43+

(F) 2x+y=3 (}) 2x+y=3 () 2x+y=3
6x+3y=8 Xx+y=2 agy =2
Xx+2y=3 XHdy =4

S0 | 7 Teoma-Soimie 72o T @ L0 Bzl (€530 e
reabre TeE T TAMER AT T A2

v (0.3 0.2) g (80 )
= «qg C =
02 0.1 30
= 7291 (2331 [0.3 0.1] T (G JC ARG T 203 ©1C
fadfg 7 8+
sy | FRfEfr T8 (Constrained) FACHTE T S (AT
(optimization) ﬂﬂ’iﬁ TG &9 ¢
A TS C(x. y) = 5x2 = 80x +y? — 32y T 4 Afee
z Teive el #fFme x + y< 301
Kuhn-Tucker =[8¢fe (@14 @3 x € y-493 I qerefE (opumum
values) e #= Lxu+p PR
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[English Version]
Section —A
Answer any five question .

1. Sketch the graph of the function for each of the following
cases :

(a) fx) is increasing when x <0 and f(x) is decreasing when X20.

(b) f(x) has three local maximum points and one global maximum
point. v
(c) f(x) has a local maximum point but does not have any global
maximum point.

(d) f(x) is continuous but not differentiable at x = 1. 1+1+1+1

2. (a) Enumerate all the subsets of the set A= { 1. 3. 5. 7}. How

3 4

many subsets are there altogether?
i 0 -1
B g )
Show that (AB)'=B"A". ; 242
3. (a) Determine the non-stationary point of inflexion for the
following function :

2
(b) GivenA=[ ],

v(x)=-x*+9x>+50
(b) At this point. is y'(x)

. v 3 snts P #8 l+l
(i) positive or negative? (ii) maximum or minimum? 2
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4. Consider T =T(x) o be total function

(a) Show that when A reaches a relative extremum. M and A must
have the same value. (b) Determine the elasticity of the Total function
T at the point where A reaches an extreme value. [A represents the
average function and M represents the marginal function] 31

5.Ina class of 120 students numbered 1 to 120, all even numbered
students are members of Debating Club, whose numbers are divisible
by 5 aré members of Litera ry Club and those whose numbers are
divisible by 7 are members of Painting Club. How many of the students

. do not belong to any of the three Clubs? : 4

6. What output combination (x, v) should a profit maximising firm
- produce when its profit function is

IT= 80x - 2x* — xy - 3y? + 100y
and its maximum output capacity is Xby= 124 4

7. Solve the following linear differential equation and verify the
solution : :

ay +5v=15 yO)=1. 3+1
8. Find out the mixed strategy solution for the following zero sum
game: '
Player I
Left Right
Up El -2
Down [ 5 —4

Player I

Section- B
Answer any five questions
* 9. Examine whether solution of the system of linear equations
Xists for each of the following cases. If it exists. then find it. If it does A
then explain why. »

(D) 2x +y=3 ©

.
i

@ 2x+y=3 2x+y=3
6x+3y=8 xX+y=2 X+y=2
X+2y=3 X+2y=4

.f ; ) 24242
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10. Glven the input coeflicient matrix and the final demand vector as

03 02 (80
A_[o.z 0.1) i (30)

Find out the optimum output levels in Leontief static open model.
Also find the total labour requirement if the labour coefficient vector
is[0.3 0.1]. 442

11. Consider the following constrained optimization problem :

Minimize C(x, ¥) = 5x* - 80x +y*~ 32y
subject to output constraint x +y=< 30.
Write down the Kuhn-Tucker conditions and find out the optimal

: values of x and y.
12, What will be the equation of the isoquant (level curve of

Lige Ln
2><6+122><‘_

fiati: 3/
production function) for the production function 9= 100K 74 174

where K and L are the level of capital and labour services respectively ?
Show that the isoquant is negatively sloped and convex to the origin.
Sketch the isoquant. 1+2+2)y+1
13.  Given the following function :
Z(x,y) = 2y* — 15x* + 60x — 384y + 95

(a) Find then critical points where the function may be at optimum.

(b) Determine whether at these points the function is at relative
maximum, relative minimum, inflection pointor saddle point. ~ 2+4
14.  Solve the following problem graphically :

Maximize Z=2x+35y subject to x<4
X.¥ ; y<3
x+2y<8
X.y20 6

15. (a) Consider a firm that makes sleeping bags and tents. Each
* sleeping bag requires 2 hours for cutting. 5 hours for sewing and 1
hour for waterproofing. Each tent requires 1 hour for cutting. 5 hours
for sewing and 3 hours for waterproofing. Given current Tesources
the firm has at most 14 hours for cutting. 40 hours for sewing and 18
hours for waterproofing. Its profit margin is Rs. 50 per sleeping bag
«1d Rs. 30 per tent.
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Formulate a L.P.P. on the basis of the above data.

(b) Construct the dual of the above primal problem. 343

16. From the following pay-off matrix. where the pay-offs are the
profits or losses of two firms. A and B, determine :

(a) whether firm A has a dominant strategy or not (b) whether firm
B has a dominant strategy or not (c) the optimal strategy for each firm
(d) Explain why the pav-off matrix indicates that firms A and B face the
prisoners’ dilemma. 2

FirmB
Low Price High Price
¥ Low Price 1ol 3,-1
Finm A
HighPrice| -1.3 2.3
1+1H1+1)+2
PART-1I i
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(T) 4 IE (I TLAME (6 I SCAFE e
TC=300+3Q+0.02Q*
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(TN) GFGH JAT HEBFE GIFBHA TR FE I

G2 IF W viftwr FEfegemed evg éame 2 3
(5) Prisoners Dilemma &6 927 FF (A6 (@ Jfears
FEHRGET I (ETACH WS (A AR & | 8

(%) T3 T BIfEA! AT O I TE TR TGR AT |
TE e AL @Io @R g A T 2 8
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[English Version] '
Section —A
Part—1

1. Answer any five questions :

(a) A student is first and foremost interested in cold drink and
would be willing to forego any quantity of milk for the smallest
additional quantity -of cold drink. However, if the cold drinks
consumption is given. the student prefers to have more milk rather
than less. Can vou draw an indifference curve in this case? Justify. 4

(b) Suppose that an individuals utility function is u(w) = w?. Isthe
person a risk lover? Will he accept a gamble where three is a chance of
winning Rs. 20 and of losing Rs. 20 with equal prohability, if his initial
wealth isRs. 100? 4

(c) A firm produces bicycles using two variable inputs — bicycle
frames and wheels. Draw the isoquants for 100 and 200 tmits of output.
Why do they look like this? 242

(d) Suppose that a producer s total cost function is as follows

TC =300+ 3 Q+0.02 Q* where TC is the total cost in dollars and
Q is the number of cases of the product produced. Obtain TFC, AF C.
TVC, AVC and MC functions. Calculate MC for first two units. 3+1
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(e) (i) How can one measure monopoly power of a producer? Is
this power related to mark-up pricing? I+1

(ii) For a profit maximising monopolist, how does this markup
depend on the elasticity of demand? 2

(f) Use Prisoners Dilemma game to determine why individual max-
imization does not result in the best outcomes for the players. 4

(g) An increase in the demand for jari works increases wages of
women workers engaged in such work. Is the long run supply curve
for jari works likely to be horizontal or upward sloping? 4

(h) Why does excess capacity exist in a monopolistically
competitive market? 4

Section- B ‘
Answer any five questions

2. (a) If the demand for a product is perfectly inelastic, what is the
shape of the corresponding priee-consumption curve? 2

(b) Jaya alwavs gets twice as much utility from an extra ballet
ticket as she does from an extra basket ball ticket regardless of how
many tickets of cither type she has. Draw Jaya’s income-consumption
curve and her Engel curve for ballet tickets. 2t2

3. State whether the following statements are true or false or

. uncertain with reasons : 343

(a) Relatively larger fixed costs imply that the minimum average

~ cost occurs at a relatively lower output level.

(b) In the short run. the producer will avoid producing in the

- region where marginal product of labour 1s positive.

4. (a) Under what conditions would the LTC curve be a positively

. sloped straight live through the origin?

(b) What would then he the shape of the LAC and the LMC
curves?

(c) Would this be consistent with U-shaped SAC curves? 2+2+2

5. The demand for labour of an industry is given by the curve L =

- 1200-10 W. where L is the labaur demanded per day and w is the wage

.~ rate. The labour supply curve is given by L = 20W. What is the
" equilibrium wage rate and quantity of labour hired? What is the
~economic rent earned by workers? What would be the nature of
. economic rent when the labour supply becomes fully clastic? 2+2+2
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6. Suppose that a competitive firm’s marginal cost of producing
output Q is given by MC(Q) = 3 + 2Q. Assume that the market price of
the firm'’s product is Rs. 9/-.

(a) What level of output will the firm produce? (b) What is the
firm’s producer sutplus? (c) Suppose that the average variable cost
of the firm is given by A VC(Q) = 3 + Q. Suppose that the firm’s fixed
costs are known to be Rs. 3/-. Will the firm be earning a positive,
negetive or zero profit in the short run? ! 2+2+2

7. A monopolist can produce at a constant average and marginal
cost ‘of AC=MC = 5/-. It faces a market demand curve given by Q= 53
-P.

(a) Obtain profit maximizing price and quantity of the monopolist
and calculate monopolist’s profit. 2

(b) Suppose a second firm enters the market. Let Q; be the output
of the first firm and Q, be the output of the second firm. Market
demand is now given by Q, + Q,= 53 — P. The second firm has the
same costs as the first firm. Eaeh firm chooses its profit-maximizing
level of output on the assumption that its competitor’s output is
fixed. Find reaction curves of both the firms. Calculate the values of
Q, and Q, for which each firm can profitably operate given its
competitor s output. Obtain resulting market price and profits of each
firm. ‘ 2+2

8. Suppose minimum Long Run Average Cost (LRAC) = Rs.3 per
kg for chicklet. Show that. if the chicklet industry is monopolistically
competitive, in the long run equilibrium the price per kg will exceed
Rs. 3. Also show how a decrease in the price of inputs used in chicklet

pruduction will affect the industry. Assume that, afier the decreasein -

costs, minimum LRAC=Rs. 2. 343

9. Palash has 3 litres of soft drinks and 9 sandwiches. Pallabi on
the other hand, has 8 litres of soft drinks and 4 sandwiches. With
these endowments. Palash’s marginal rate of substitution (MRS) of
soft drinks for sandwiches is 4 and Pallabi’s MRS is equal to 2. Draw
an Edgeworth box diagram to show whether this allocation of
resources is efficient. If it is. explain why and if it is not. what

exchanges will make both parties better off ? 3+3
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[English Version]
Section— A
* Answer any five questions

1. If expected inflation is 4 per cent and equilibrium real interest
rate at which total lending is equal to total borrowing is also 4 per
cent, what will be the nominal interest rate? Explain why? 242

2. Suppose the annual level of aggregate demand is givenby AD
=50+0.9Y where'Y = annual GDP. Find out the daily rate of involuntary
change in inventory, when producers’ planned output level is (i) Y =
450 and (ii) Y = 600. 242

3. Define a multiplier. Given that the’marginal propensity to

. consumeis0.9.and the tax rate is 0.3, calculate the value of the multiplier.

2+2
4. Suppose that the required reserve ratio is 0.12 for deposits and
there are no excess revenues. Suppose also that the total demand for

- currency is equal to 0.3 times deposits.

(1) If the total reserve is Rs. 40 billion, what is the levél of money

" supply? (ii) By how much will the money supply change if RBI buys
. government bonds worth Rs. 1 billion from the open market?  2+2

5. Derive the Solow residual using the growth accounting

equation. What are the factors that can change the value of the

residual? 3+1
6. If the real GDP and the money stocks grow by 5% and 14% per

year respectively, what is the real interest rate, assuming the velocity

of money is constant and nominal interest rate is 11% ? 4
7. Suppose, in a Keynesian cross, the consumption function is

CRChcY-T)
(1) What happens to equilibrium income if C declines? (ii) What

J:happens to equilibrium savings? Comment onjthe result. 242

- C.U. Eco (H) I & I1-2017-3
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8. (a) The consumption function is given by
C=200+0.75(Y -T).
and the investment function is I = 200 — 25r.
Government purchases and taxes are both 100. For this economy,
derive the equation of the IS curve.
(b) The money demand function for the above economy is

(I\y)‘ll = Y-100r. .

P
The money supply M® is 1000 and the price level P is 2. Derive the
equation of the LM curve. 2+2
Section- B

Answer any five questions

9. Distinguish between permanent income and transitory income.
How does the permanent income hypothesis solve the puzzle of the
_ standard Keynesian consumption theory? 2+

10. Compare briefly between the transaction version and the
income version of the Quantity Theory of Money. Do you think the
second one is an improvement over the first one? 442

11. Derive the AS curve under the following situations :

(1) The economy achieves long-run full-employment equilibrium.

(it) The producers have imperfect mformauon about the prices of
goods prodoced by others. 3+3

12. How does the Keynesian liquidity preference theory explain
the relationship between the interest rate and the level of income? 6

13. Use the Mundell-Fleming model to predict what would happen
to aggregate income. exchange rate-and the trade balance under both
floating and fixed exchange rates in response to the following shocks :
(1)) The introduction of a stylish line of Toyotas makes some consumers
prefer foreign cars over domestic cars. (ii) The introduction of automatic
teller machines reduces the demand for money. 343

14. In the sticky-price miodel, describe the aggregate supply curve
in the following special cases :

(1) No firms have flexible prices (s= 1)

(1i) The desired price does not depend on ag grcgdlc output (a = 0).

3+3

15. In the Solow growth model, how does the saving rate affect

the steady-state level of income? How does it affect the steady-state
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rate of growth? Why might a policy maker choose the Golden Rule
Level of Capital? ! 33142

16. Suppose that the government levies a m\ on coal companies
equal to a proportion of the value of the company’s coal reserver.

(The government assured the firms that the tax is for one time only.)

According to the neo-classical model. what effect will the tax have on
business fixed investment by these firms? What if these firms face

financing constraints? i
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Section -A -
1. Answer any ten questions:: 2x10

(a) State any four characteristic features of economic growth as
indicated by Kuznets. (b) Indicate‘Fisher-Clark’ views regarding the
economic transition of a country. (¢) What is ‘youth dependency
ratio’? (d) Why is ‘Big-Push’ needed in a less-developed country? (€)
Indicate the stage that marks the beginning of demographic transition
in a country. (f) A country experiences 7% growth in her GDP per
annum. s this feature sufficient for achieving economic development?
Justify with two reasons. (g) Give any two reasons for unfavourable
Terms of Trade of a less-developed economy as suggested by Prebish
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and Singer. (h) Explain in brief the social dimensions of poverty. (i)
Mention any two policies undertaken by different countries for
environmental regulation. (j) What is the reason for preferring ‘share
cropping’ instead of ‘fixed rent’ tenancy in developing nations of
Asia? (k) Mention two objectives of institutional reforms in the
agricultural sector of less-developed countries. (1) Mention four
criticisms of Lewis Model. (m) Give two arguments supporting the
role of capital accumulation in any less-developed country. (n) Indicate
any two factors responsible for generation of human capital in an
economy. (0) Can technical progress be biased in favour of either
capital or labour? Explain any one of such technical advancement.

Section- B
Answer any three questions _
2. (a) When does an inequality measure become Lorenz consistent?

3
(b) Explain the use of Lorenz curve to make judgements on the
pattern of income distribution in any developing economy. 5
3. (a) Explain the ‘capabilities approach’ towards economic
development. i 4
(b) ‘Despite the existence of diverse set of developing nations,
they have some common characteristics’ — Explain. 6

4. Explain the growth laws as put forward by Kaldor in establishing
the relationship between industrial growth. GDP growth and
productivity growth in an economy. 10

5. (a) Discuss the role of “higher investment rate’ and the ‘leading
growth sectors’ in any economy for the attainment of ‘take-off” stage
as described by Rostow. 1

(b) Does growth Occur by stages always? Explain. 3

6.(a) “Workers sometimes base their migration decisions on their
expected income’ — Explain this proposition with the help of Harris-

Todaro model. i
(b) Suggest some policy measures 1o restrict such rural-urban
migration in, this context. 3

O -
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[English Version]
Section—A
1. Answer any three questions : / 2x10

(a) Why-did the development strategy in Indian Planning prefer
institution of state over that of market? (b) What is urban bias in
Indian Planning? (c) What is NREGA? What is its name at present?
(d) Distinguish between marketed surplus and marketable surplus of
food grain in India. (¢) Mention any two indicators of regional
inequality in India. (f) What do you mean by PL — 4807 (g) Mention
any two problems resulting from centralised planning system in India.
(h) What was the rationale behind *minimum support price’ in Indian
agriculture? (i) What do you mean by Disinvestment Policy of
Government of India? (j) What are the three types of land reform -
measures adopted by India in 1950S? (k) Mention names of any four
industrial enterprises under the Navaratna category in India. (1)
Mention two economic features of New Technology that was adopted
in Indian agriculture during mid 1960s. (m) Give two arguments in
favour of continuation of government subsidy in Indian agriculture.
(n) Discuss, in brief. the concepts of unemployment used by the
National Sample Survey Organisation (NSSO). (0) Mention any two

- arguments in favour of the policy of import substitution in India.

Section - B
Answer any three questions
2. Explain the basic issues relating to farm-size and productivity.
Do you think that the relation between farm size and productivity is

. scale-neutral? Explain. 5t

: 3 -Explain the structural constraints faced during implementation
- ofdevelopment planning in India. 10
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4. What were the objectives of Industrial Licensing Policy of India?
How far this policy was successful in initiating the process of

industrialization? 5+5
5. Why and how was the development objective modified in the
Fifth Five Year Plan? Explain. 10

6. Mention some of the principal reasons behind the inflationary
pressure in India during 1980s. Discuss some of the measures
undertaken by the government of India to overcome this problem. 4+6
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Section—A
1. Answer any five questions:

(a) “In the absence of international trade, the relative price of goods

are equal to their relative unit labour requirement”. — Do you agree? 4
(b) Do you agree with the view that Heckschcr-Ohlin theorem is an
extension of Ricardian theory of trade? 4
: (c) Define trade triangle and signify the implications of all three
sides of the trade triangle. : 4
(d) Explain a situation where demand conditions cause trade
patterns that violate the Heckscher-Ohlin theorem. 4
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(e) “The sources of capital stock in an open economy are different
from a closed one”. — Justify. 4
(f) “The effect of barriers to trade is to validate the presumption
that an international transfer of income worsens the donor’s terms of
trade”. Explain. : 4
(g) “Effective rate of protection is expected to decrease under

globalization” — Agree? Justify. 43 -
(h) Explain the Swan diagram of internal and external balance in an
economy. : 4
Section - B

Answer any five questions
2. State the assumptions of the Heckscher-Ohlin theory. Explain their
meaning and importance. 3+3
3. (a) “The effect of a change in a factor price on a good’s price
depends on how intensively the factor is used in producing that good”.
Establish the statement.
(b) State and explain Rybczynski theorem. 343
4. Suppose there is a transfer of income from the country to other.
Does it necessarily affect the terms of trade’? Explain in terms of world
relative demand and relative supply curves. : 145
5. Home demand and supply curves are gives by
D"=120-25P and S¥=20+ 15P
while foreign demand and supply curves are
DF=70-20P and SF=30+ 10P :
(i) Construct home’s import demand curve,
(ii) Construct foreign’s export supply curve.
(iii) Find the equilibrium price under free trade.

(iv) Determine the prices in the two countries when a tariff of 0.7

per unit is imposed on imports of home economy. P+ B A L2
6. Analyse the partial equilibrium effect of an import tariff and an
import quota. When will the effects of import tariff and quota be
equivalent? : ; 24242
7. (a) Derive the formula for the optimum tariff, 3 A
(b) What feature of a country’s export is essential for Metzler
Paradox to exist? 7 4+2
‘8. Develop a national income model ‘with foreign repercussion to
show how fluctuations in economic activities are transmitted across
countries. 6
9. How are the ‘spot’ and ‘forward’ markets for foreign exchange
linked? : 6
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- Section-A
- (Marks - 20)
Answer any five questions 4x5
1. Mention two dissimilarities between private finance and public
finance.
"2. What is the distribution function of the state?
3. What do you mean by tied grant and matching grant? 2+2
4. Distinguish between national and local social goods. 0
5. What is the difference between conventional budget and cash’
budget?
6. Compare between unit tax and ad valorem tax. Give example
7. Define non-tax revenue resources. What are the major non-tax
revenue resources in India ? ;
8. What are the instruments of stabilization policy ?
Section - B
(Marks - 30) ;
Answer any five questions 6x5
9. Explain the regulatory function of the government and its
economic significance.

10. “Efficient provision of social goods involves vertical rather than
horizontal addition of individual pseudo-demand schedules Explain
your answer.

11. Define public goods. What are the basic reasons for market failure
in the provision of public goods? » 2+4

12. Explain the concept of functional classification of budget.

13. Derive the fiscal multiplier due to change in government
expenditure under the following two situations :

(1) Taxes are of lumpsum variety, (ii) Taxes are proportional to
income.

14. What are the effects of income tax on work effect of an individual?

15. What is GST ? Will GST be a better option for India in lieu of the
existing indirect tax structure ? 2+4

16. Does public debt create burden for future generations? Give
arguments in favour of your answer.
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“"Section —A
1. Answer any five questions: 4x5
(a) Explain the nature of development ili
gap prevailing at present
between developgd and less developed countries. (b) DistiIr)lguish
between mercantilism and industrial capitalism. (c) Mention any two
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causes of economic crisis faced by Great Britain during the Great
Depression of 1930s. (d) Mention the main functions of the World Bank.
(e) Indicate two principal components of development planning in a
mixed economy. (f) What do you mean by unequal exchange? Who
d it? (g) Regional Trading Blocks are classified into four

propounde 1
categories. What are they? (h) Indicate two major reasons behind the

_economic crisis in Argentina.

Section -B

2. Answer any three questions: -
(a) Describe how the Western European Capitalism transformed

the third world countries. Do you think Neo classical economists can
offer any explanation to the problems faced by todays Third World?
. 6+4
(b) Explain the argument why priority was laid on heavy
industrialisation in Soviet Union during the early phase of development
planning. 10
~(¢) Do you think that Washington Consensus on development
policy has limited applicability in developing countries? In this context
discuss the relevance of the New Consensus and the role of State. 5+5
(d) Examine the major issues in the debate on the role of
Multinational Corporations in developing countries. 10
(e) Do you think that export promotion is a better strategy than
import substitution for industrial development in less developed

countries? Explain. : 10
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ENGLISH VERSION
Group-A
Question No. 1 is compulsory Answer any two other questions
1. Answer any five questions: 2x5

: (a) In what way did the new economic policy bring about a change
in thf: development strategy of India? (b) What is ‘Strategic Sale’ if
pub.l_lc t?nterprise? (c) What initiatives have been taken in the fiscal
pollcy in recent times to reduce poverty and unemployment? (d)
Mentlon any three reforms that have emphasized export promolior'l (e)
lefergntlate between FERA and FEMA. (f) How the share of the ser\./ice
sector in the overall economy of India has changed since 1990s ? (o)

formation of SEZs in India.
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Indicate two defects of public distribution system in India. (h) What do
you think are the causes of deceleration of agricultural growth in the
post-reform period?

2. How was public debt attempted to be managed through the
enactment of FRBM Act? What happened to the FRBM Act following
the global economic crisis since 2007 ? : 6+4

3. (a) Discuss how the formation of SEZs have contributed to

industrial growth in India. 5
(b) Examine in this context the issue of land acquisition for the
5

4. Critically examine the operation of MGNREGA in respect of
employment and income generation in rural India during the post-reform

period. 10
Group-B
Question No. 5 is compulsory. Answer any one from the rest
5. Answer any five questions: 2%5

(a) Define State Domestic Product. Mention two official sources
of statistics on SDP of West Bengal. (b) Mention two features of agrarian
relations in West Bengal. (c) Mention two characteristics of the labour
force employed in the informal sector of West Bengal. (d) What is the
approximate percentage contribution of the tertiary sector in the SDP of
West Bengal in recent times? (¢) Can you indicate any supremacy of
West Bengal in terms of her contribution towards agricultural output in
India? (f) State two poverty alleviation programmes undertaken by the
government of West Bengal. (g) Mention any two problems faced by
small-scale industries of West Bengal. (h) Indicate two implications of
Operation Borga. (i) Indicate the similarity between sectoral contribution
towards GDP of West Bengal and India. (j) Mention the variables which
are taken into account in determining the Human Development Index

of West Bengal.
6. Give an account of the characteristics of agricultural production
in West Bengal during the last few decades. 10

7. What are Self-Help Groups? What are the contributions of Self-

Help Groups towards social and financial inclusion in West Bengal?
2+8



SEVENTH PAPER -2017
’ (Group—A)
Full Marks - 50
fem-s
: AT - 20
> | Q- TN 515 2z Twm e o
(F) @A 321 frzeifs orey R 3

. 2,0<x<1,0<x< <
f(x’y)z{o TR z

| RSB RSO h[x/y=21) 33 k(y/x=4l) E0E K TR

() SN T A2 (rand li
@ww? (random Sampling numbers) It W?:jj
(ﬂ)ﬁﬁﬁ%mxmmﬁv&ﬁmﬁ‘ﬁm: :
(W)mﬁaaﬁmﬁmmwﬁmm%@emamw

3= 10 st s s flatter 23 |
() Regfefs wfs mds chi-square beTifRrar wysire, FEAE
n, 8 n, AT (g 3+

(%) 300 ml. 773 *41f7 o, A7 ﬁﬁsnm A1 AT
N (roeeferg sty gt fRefoi-qq TZoffon ﬁﬁ?ﬂ?‘?{sl 43 e
W@wﬁa%mﬁawaﬁwpawﬁmﬁwmﬁm%

mnpea%%wﬁzwiﬁmmﬁwwwm@ms%@m
ST AfI 2ga 2
' 291 2983 3001 2068 2977
Wﬁmmu i
1 A -
mz“f g P '
( Gl dz 0.005) &

(@)aﬁwﬁawmmx,,xz ..... X, G PTG Tl R o7z

A T ovNle o’ 8 T 9T x | o2 99 FFAOEN GBSy Moy
A : -
: 8

Seventh Paper—2017 11

5) e swf 7oy s S ok 5 ¢ 343

: )(ss:) SRSWOR (T3 7! (703) €3 ¢%ed 3 I R Term!
TR 30 SIS TR TSI T+l 203 4060 | (1) Tfet RSz wrwee
(I THRTHS A1 AMF O PGS GRNR (@197 %) 23 1 | :

(v) Fsfafe fised sresef i el ? w21 @q 7

1

(W) Y‘ = eﬁwﬂ:",w, (m) Yi =W | . IS
(1) Heteroscedasticity 4@ Goldfeld @ Quaudt-93 A% fofe
Fe 8
et - 2
(SfefTiw - o)

| @RI AT vz Te e
(&) (W) 20 39 @, 96 FRT T SR ST SN
O SIS BFETT A |
() @b “statistic’ - 97 TG a2 RN FT1T 843
() G718 @, n FIRATSIT TAFTZ 07 t-AARPRAE 3527 (1-n)

IO TR F - 225722017 o | Y
(o) 77 Ficefow Fara som <= i wrafon anes sifzwiet Roma

PG N eoqef 2 ¢ S v
062 045 048 05 057 051 04

AHS ST 200 2751 A1 51T 6T 0.52 W16 206 203 | 431 T
e o =afs, e Jarm eu Troifi Refs s, 17 were
IO p e S RS o1 % w2y 2B 249 0w ®, R A5l Besty

B TG S 0.52 WG ST ?

(&7& 2 P(t>1.943)=0.05 for 7 df)
(%) 3 FTOIRS SR N(11,02) (T S T (R8T 2, ©73 ©f
TS 8 (OWANTTR 51 S (MLE) &t favef 1| Ty
() 10 72yt RfHT @3fb Tt (2 e vl aie o

DY, =1,110 > X, =1,700 :
2. Y7 =132,100 2. X? =322,000
2. XY, =205,500 ]
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(b) What are ca{led random sampling numbers? Why are they used? -

A RS FZANCET T 1= 0.9758 | €3 4931 =45t 371 o4 Cofey <4 R 2+2
@, TR (o1 e gerencs frs s R T ¢ _ (c) Identify the type of sampling distribution from the following
: : statements: j 2 : .
i) The curve has a single peak which shifts to the right and the
X L curve getgli)“latter when degree of freedom increases. : .
e 2" 3] 90 | 120 APOATF 2|80 | 110 (ii) The distribution is the ratio of two independent chl-sq;arg
j ‘ i i freedom. +
140 | 220 150 210 variable with n, and n, degrges of i
: A NED d) In a 300 ml, soft drink bottle of a particular brand the contents
() . RS FRAYS W1 o may v(ary little bit from bottle to bottle, because the filling machinery it
(= UFC ESS, RSS @3k TSS 47 T P oo S perfectly precise. Assuming normal distribution of the contents of
®y = o +BX; +u, O FAE @, o G B-a= =B 3o *wfers  the bottles about 1, the true average of the contents of the bottles,
BN 2 TR 15416 X7y | 2ii-Ferpelerg covmm f o o+o  Obtain a 99% confidence interval for p when 5 such bottles give the
: I O3 ey W\ R oL following contents: (ml) and interpret your result.
= e e o iy A T e cre 299.1 2983 300.1 296.8 297.7
CEI sy : 9 o S [ : ._1__"“0 'z%dz=0005j
given : e } 341
(Quarter) (Seasonal Index) 2m J2.57 : ;
e - W6 97 (e) A.random sample x, x,, ..., X, is drawn from an infinite
«fee - g 85 ' population with variance 6*and X , as sample mean. Derive an unbiased
TR - (TR ] ' estimator of ¢2. 4
wERT - e 135 (f) Examine wht;ther the following staté:ments are ‘true’ or ‘f;l)sg’] :
- ﬁ' : ﬁ' s s (1) In case of SRSWOR (order of rawing being ignore e
i ad T Sl T T 15 ’OOO_N’ i possible number of distinct samples is 4060 when a random sample of 3
I ol Camfiess everafba w1 Gabrema &y CUIPITAI © B AR individuals is drawn from a population of size 30.- (ii) If there is no
I IE E© FAI ? ‘ R+3+% intercept in the regression model, the estimated errof will not sum to
M - (%) iRe-eaibom sl Ty et s swafs Ry zero. e 22
‘,U 9 I 2 G2 AR T e 843 ~ (8) Are the following models linear regression models? Why or
hy not? .
J\ [ENGLISH VERSION] " :
/ Section - A . () Y, = ePBoxivw, (ii) i :-*L}T 249
1 Fu“ Marks -20 ; y i 14 eﬁl X+,
.. Answer any five questions: : e (h) What is the basis of Goldfeld and Quandt test in determining
\ ete icity?
N (a) Evaluate the conditional distributions h(x/y = %) and i Section- B’ 4
| : (Full Marks — 30
‘ 1 “ull Mar| )
}‘ k(y/x =-—) if the joint distribution of x and yis: 2. Ansyver any five questions: :
4 ; (@) (i) Prove that the expectation of the product of two independent

2,0<x<L0<x<y<l : random variables is equal to the product of their expectation. (ii) Explain

: the concept of stan isti
0, otherwise ) 242 , P dard error of a statistic. 4+2

;‘: ()=
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(b) Show that the square of studen’s t-statistic with n degrees of
freedom has an F distribution with (1, n) degrees of freedom. 6
(c) The weights of seven synthetic diamonds generated by a new
process are measured to evaluate the profitability of the process. The
weights (in carats) are as follows: |
0.62, 045, 048, 059, 057, 051, 0.54
. Average weight of the diamond must be greater than 0.52 carat
in order that the process be operated at a profitable level. Assume that
the weight of randomly selected diamond generated by the process
follows normal distribution with unknown mean (jt) and standard
deviation (o). Do the above data provide sufficient evidence? [Given :
P(t > 1.943) = 0.05 for 7 df ]
(d) In random sampling from Normal Population N(p,6?) find
Maximum Likelihood Estimator for the simultaneous estimation of
mean and variance. : 6
(e) From a sample of 10 observatios, the following results were

obtained:
DY, =1,110

> Y7 =132,100

3 X,Y, =205,500

with coefficient of correlation r = 0.9758. But on checking
these calculations it was found that two pairs of observations were
wrongly recorded as:

Y| X X

90 | 120] instead of | 80 [110
140 | 220 150 {210

(i) obtain the correct r. (ii) obtain correct ESS, RSS and TSS.
343

(f) Show that the least square estimators of o and B in the model

N

> X, =1,700
> X,* =322,000

y, =0 +Px; +u, are unbiased. Write down the variances of the

estimators. 343
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(g) The seasonal indices of the sales of garments of a particular
type on a certain shop are given below:
' Quarte Seasonal Index
Jan. - May 97
Apr. - June 85
July - Sep. 83
Oct. - Dec. : 135

If the total sales in the first quarter of a year be worth 15,000,

determine how much worth of garments of this type should be kept in
stock by the shop-owner to meet the demand for each of the other three

quarters of the year. ‘ 24242
(h) How would you use Durbin-Watson d statistic to test for serial -
correlation’? What are the limitations of D — W test? 442
SEVENTH PAPER -2017
(Group—-B)
Full Marks - 50 :
(Students will attempt either Option — A or option — B)
| Option—A
(Application of Economics to Managerial Issues )
et -3
S| @A 5o AT T& 1S ¢ :
(3) 31T AR FAfoH 93 FBIG 372 17 39 | 8
(}) T Fog wLtafoT g Reava 721 T gL @92 s+o
(o) wfefe 33 ¢ Fafes Jwa wg AL Je 8
(9) fag o1 fdiae i et 2 @3 3R § e R
- () S R Mo w737 AR 24w 7R F 2 @ ovea @b
TR @ A 2 3+
(%) LA ATEH2-97 4 Siaasfe e
(®) EOQ =& «3fb f8Is s7=rams) i< 34 | 8
: (E)Wewwsmvn@ﬁﬁwn 8
; e - 2

@~ I AofE 2iveiw Tea me
R | s s Brarwel e o wick yes e @
(%) TN FA & T T 1o 1 |
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() TR W TR T AL 51fEw S a6 | o+
olmmmﬁ%wﬁwﬁﬁwa@mlﬁmw
2T OAF ffers ¢

P=1000+900/Q

P = @3 ForA W

Q =1 R (F&rR)

(F) FeferRe ARG 75 37 3
P PQ MR (2T )

\ooo'\)cnu'.:;mw_.(c

10
() vifEAl F Q = 5000-4 1% - Bz 27 ?
(51) WIS Rs. 1180 (AT Rs. 1125~ I & efiesaz 732
(‘zr)P—nsowap—nzs«sammfif‘wmwﬁ‘fqmn
() vifewt @B Q= f(p) (5 et 77 | aff R 7ol wropas 7 P
T W1 (Pl el 513 36 Sl QI BIeCe 516 2 BB 2 S45+5+5+3
81 (F) WfE o GRS’ (Margin of Safety) 32
(ﬂ)ﬁﬁﬁﬁwmﬁm@rﬁﬁfm Baaﬁ%wmﬁ}ﬁcﬁw,

TR A T B
wﬁm (Rs.) 1,00,000 60,000
AEH R (Rs.) 1,00,000 80,000
(@F-3reA 7@ (Rs.) 50,000 50,000

(o) @M= Tl RS o Gl e e @ e AN
¢ | e Rivw aurefie fog Ral smfers Teife gwem
fofers s |
m@s)wmwﬁs(ﬂ)mmwﬁs(mmw
|

0,
: miﬁ?‘{ :?:égsgx (Rs.) AT 75 AAZ (Rs.)  SHEA
A 25 (XX) 3,«» 10
B 3,000 1,000 ' 5
c 12,000 2,000 8
D 20,000 4,000 10
E 40,000 8,000 12
) A
ol aﬁ@eﬂm@mwmam?@wmﬁ%ﬁmﬁsﬁ%ﬂ
AHOTS W ez @z +>+9

q | fasfiRe amefra 7 & g aaws ¢ comma we Ifesz A 39 |
(=) Yo 33 Fofores 29 At CrR 2w T WE | (%) FfFs

SN P T R 1 (51) SIS (1 T R | +3+R
¥ | ABC e 3103 3t 2 9fod (o wear 28 2 3+8
> Gl T pre (weE e Rivcrsierfion s s

2e7 Bfhw? v

[ENGLISH VERSION]
Option-A
(Application or economics to Managerial Issues)
Section-A
1. Answer any five questions:
' (a) Explain descounting principle with an.example. 4.
(b) Is it appropriate to consider firm as an economic entity? Why?
f i 143
(c) Distinguish between incremental cost and sunk cost. e ]
(d) What is dual pricing? What are its advantages? 2+2
(e) What are the main advantages of marginal cost pricing? When
it is best applied? 2+2

(f) Briefly describe the broad categories of capital budgeting. 4
(g) Explain EOQ with an example.
(h) Distinguish between horizontal and vertical relationships. 4 :
Section - B
Answer any five questions
A 2; Descnbe the effects of the following decision on the value of the
irm:
(a) The firm has to install new equipment to reduce air pollution.
(b) There is a fall in demand following a rise in price of the
commodity. 343

C.U. Econo (H) 111 / 2
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3. The demand for scooters was estimated by the following

relationship from the data for the last ten years :
P = 1000 + 900/Q
where P = Price per scooter
Q = Number of scooters sold (in thousands)
(a) Complete the following table:
P PQ MR

O 0N U B W -

10

(b) Is the demand for scooters inelastic at 50007

(c) Will it be profitable to lower price from Rs. 1180 to Rs. 11257

(d) Calculate the arc elasticity between P = Rs. 1180 and P = Rs.
1125.

(e) Express the demand for scooters as Q = f(p). Is the function
complete? What other variables would you like to include which can
influence the demand for scooters? I+1+1+142

4. (a) What is margin of safety?

(b) Find the margin of safety (value) of Firms A and B from the

following data:

: FirmA Firm B
Actual sales (Rs.) 1,00,000 60,000
Budgeted sales (Rs.) 1,00,000 80,000
Break even sales(Rs.) 50,000 50,000

(c) Which company is placed better with respect to its margin of
safety and why? ' 24242
5. Rank the following investment proposals in order of their
profitability according to
(a) Payback method
(b) Rate of return method

Seventh Paper —2017 | i

(c) Present value index method
(Cost of capital: 10 percent) o
Initial Qutlay(Rs) ~ Annual cash flow (Rs.) Lifein years

g 25,000 3,000 10
g 3‘60_0 1,000 3
c 12.000 , 2,000 8
D 20,000 - 4,000 10
E 40.000 8.000 12 2+2+42

6—. What is meant by product life cycle? Can there be variation in
price policy in different stages of product life cycle? Why? 2+1+43
7. Do you agree with the following statements : :

(a) Cost of capital is equal to dividend rate or return on equity. (b)
Retained earnings are cost free or cost significantly less than internal
equity. (c) Depreciation has no cost. Justify your answer. 24242

8. What is ABC analysis? Why it is required? 2+.4
9. What would be the ideal role of institutional investors in

governance of a firm? 6
; Option— B
(Mathematical Economics)
ot -
@- I A5fe 2Avsa Teq wis
S| T (TS 250 BIRP W I (S1UY x IR y FERAEY | X ARY
TR AGI 0N IAFH P, =8 @} P, =10 TR |
(i) TG (SIS JATED ST Fiearet fai et | (i) ol cerfozas
I (ST wigw @b I I | (i) T4 x TCA A #AfEae 2
P =10 Bl 20 O3 (SS17 IS el Afiaés @ 2 of fo
AN | G2 SRREER T PO x IR y WA T IS “Afaaderg
AR AT = ; : . 8
31 (F) u=—e" 251 @b Toica Mo SowE | (A8 @ P> 0 2 b ¢
- O FE WA G IS T € SRS | (1S (T G2 SAFIH o7 I
Al 25! 2w R | 3
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() (RTERIG 1 93 2 SR (Freiet fofa =zt ¢

(RTERTS - 2
X g
Al 250 4,2
QUG - 1 B Lig¥h | 3.2
Cri288 |- 4.1
D |43 | 54 4

© | 516 Ay Mg (word processor) €3¢ 4o 512t ARo1aR HH=y
4P A ARG craa1 27 | 5i2et 21201 A0 2w Seotrm e 50
o1 R IRy e T AT Sesivm tf 500 et | BiEs 2B

| A HARCTI QSR W Wl 1 51961 @32 30 el 3 AR

CAfe 50 DI | 92 ST sifiT sz s Bize 220 5.9k a9
fdine g @It <R v A 5w Ty o 8
8 | 41 AT, @ HfiE AYNZ AT 40 951 15 F07 @32 o1 T
(G T IS 22T 160 TBY, IR SR W) (AT B (8 €38 (1 F1e
FAE B Rs. 6 TG 2 | 41 T, C T WL L T TR, 4R O
ToATIINS! S 291 ¢ u =3 log ¢ + 5 log L | iz @15y = cpelizerar
(b el 32 | ©12 F0E CoNoR Ty T AR WY AR 2 8
@ | fG 7 BeoAMmTRIR @ I I ST eI T W R
) T R ©1 26T — C(Q) = 50+ 25Q + 30Q? + 5Q° % e fofrs
forfiie Remefe fdfa s
(i) 10 ¢ B Teotiea 32 93, (if) 10 939 9 SeaAe sifzaéae
[, (iii) 10 9 75 BeoAWMTH TG 22 73, (iv) 10 9% T2y ot ofo
Al a3 SN
v | fsfaRe [6 Soreq (Pay-off) GG stefy 2t 3

CATEIRNG - §
&= ¢ | D
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B 22 J4a-X3]
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1030 0.1
o| wa, A=| 0 02 02
' 00 0 03
m{ﬁmﬂﬁw%ﬁwﬁvmﬁmﬁmml 8
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et - <
@- @I AWofe 2Are7 Tez e
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=% («fi 961), Q = T w3y (Ffermm am wi@e) | I o = 0.0012,
B, =0.45, B, =020, B, =0.30 T () = ¢ TR Sevin Ffogioret
efa =21 () @fie 951 7 10% TS, ©IREE T F© AS1 AT 2 (51)
T 4fS I 3% I GE (ST T, OITE TATR ToF ©FF F 2ol
AT 2 (F) 431 T T TAMI 10% ST 257 | TLofF TO0! ATLA 2 J+5+5+
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1A, P G t AN FAOpfEe W o I | A T
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33 | G (oA Sorafaret wer 26 u (x y) = x (y + 1) &0
R M = xP_+yP, | (F) 4fb @eara sifwt wespwa foef 1 () sfears
Soiaifaret sirsrmat (714 (1) Roy’s ideality 2519 902 (716 | 3+3+3
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33| ol steafs fasa o ¢
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wix e
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[ENGLISH VERSION]
Option-B .
(Mathematical Economics)
Section — A
Answer any five questions
1. A consumer must divide Rs. 250 between the consumption of
product X and product y. The relevant market pricesare P =5 and P =
10. :
(a) Write the equation for the consumer’s budget line.
(b) Ilustrate consumer’s choice set in a carefully labeled diagram.
(c) Show how the consumer’s opportunity set changes when the
price of good X increases to Rs. 10. How does this change alter the
market rate of substitution between goods X and Y? 4
2. (a) Consider the utility function u = _e. Show that it is increasing
and concave for all ¢ as long as P > 0. Show that this function has

constant absolute risk aversion coefficient. 2
(b) Find the dominant strategies for players 1 and 2.
Player 2
X Y
: ARSI
Player | B g3 18032
CiliiZ 1.1 4
D 4340105, 4 2

- 3. Temporary services use four word processors and two type writers
1o produce reports. The marginal product of a typewriter is 50 pages per
day, and the marginal product of a word processor is 500 pages per day.

€ rental price of a typewriter is Re. 1 per day, whereas the rental price
of a word processor is Rs. 50 per day. Is Temporary services utilising
typewriters and word processors in a cost-minimizing manner? 4
4. Suppose a worker is limited to working a maximum of 40 hours
Per week, for a total labour supply endowment of 160 hours per month.



He has no other source of labour income and if he works, would receive
a wage of Rs. 6 for each hour worked. Assume that the worker’s utility
function is defined over money (C) and leisure (L), and takes the
following form: u = 3 log ¢ + 5 log L. Solve for the worker’s optima]
choice of labour supply. How much money does he have for
consumption? : 4
‘5. An economist estimated that the cost function of a single product
firmis C(Q) = 50+25Q+30Q%+5Q?
Based on this information, determine
(i) The fixed cost of producing 10 units of output (ii) The variable
cost of producing 10 units of output (iii) The average fixed cost of
producing 10 units of output (iv) Average variable cost of producing 10
units of output. I+1+1+1
6. Consider the following pay-off matrix: -

Player - 2
Strategy C D
Player -1 A 1,4-X 22
B 2.2 4-X,3 -

(i) For what value of X is strategy D (strictly) dominant for Player 27
(i1) For wha; value of X is strategy B (strictly) dominant for Player

1? 2+2
0.1 03 0.1 j
7. Let A=| 0 02 02| Check whether Hawkins-Simon
0 90::0,3
condition holds? 4
8. Derive the elasticity of substitution from the Cobb-Douglas
production function q=AK*L". ’ 4
Group -B

Answer any five questions

9. Consider the following production function for bus transportation

in a particular city: Q =alPF:K", where F = Fuel input in gallons, K
= capital input in number of buses, L = Labour input in worker hours, Q
= output in millions of bus miles. Given that ¢ = 0.0012, B, =045,
B,=020,B,=0.30.

(a) Determine output elasticities for labour and capital. (b) If labour
hours increase by 10%, by what percentage will output increase? (c) If
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: i year', 39% of the buses are taken out of service, what effect will this

have on output? (d) Suppose all inputs are increased by 10%. What will

‘happen to output? 2+1+142
10. Qa = _ﬁpl
Q, =-1+8P

P, denotes expected price for period t. Sellers have adaptive
expectation regarding price

P’ =P, +n(P_~P.),

t-1 t-1

0<n<l
(a) Give an economic interpretation. Is this model a general case

‘of Cob-Web model? (b) Find the time path of price. Under what condition

is it stable? 3+3
11. A consumer has the following utility function: u(x y) = x(y + 1)
with budget constraint M = xP, % yPy. ;
(a) Find the demand function for the two goods. (b) Find the
indirect utility function. (c) Show that Roy’s identity holds.  2+2+2
12. Consider the following model: :

C=C(y.r), I=l(y,r), Y=C+I1+G
MD'—_L()’,T), MS ZM, MD =MS ,
Find the effects of change in government spending (G) and money

supply (1\-4) on y and r. Do you need any spéciﬁc assumption to make

the model stable? 6
- 13. Set up the basic Samuelson Multiplier Accelerator model. If the
accelerator is 0.8 and MPC is 0.7, what kind of interaction time path.
will result? 6

Lk o
14. Let A % % % and the final demand vector be 28 ;

U % %
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Find the total output of the 3 sectors. What will be the total outputs if
the final demand for sector 1 has increased by 17 . 6
15. The following pay-off table depicts service competition between
two hospitals in a South-Eastern city. (Each pay-off represents profit in
thousand Rs.):
Hospital B’s service

Basic All purpose Speciality
Basic 9,7 5.4 12,6
Hospital s All purpose | 4,5 bk 7,4
Service Speciality - |6, 10 312 303
Determine Nash equilibrium. Gt

16. Anemployee (X) and the employer (Y) have to make a decision. X
has to choose whether to pursure training that costs Rs. 1,000 to him or
not. Y has to decide whether to pay a fixed wage of Rs, 10,000 to X or
share the revenues of the enterprise 50 : 50 with X. The output is
positively affected by both training and revenue sharing. With no training
and a fixed wage, total output is Rs. 20.000, while if either training or
profit sharing is implemented, the output rises to Rs, 22.000. If both
training and revenue sharing are implemented, the output is Rs. 25,000.
(i) Construct the pay-off matrix. (ii) Is there any equilibrium in dominant
strategies? (iii) Can you find the solution of the game with Iterated
Elimination of Dominated strategies? (iv) Is there any Nash equilibrium?

2+1+1+2
EIGHTH PAPER-2017 4
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1. Answer any five questions: £R ] . :
(a) What do you mean by ‘Economic Drain’ of India’? (b) Write a

brief note on Ryotwari System. (c) What were the features of Railway

freight and fare policy in India during the British rule? (d) Highlight tl}e
basic features of ‘New Guarantee System’ of Railway construction in
British India. (¢) Explain the concept of Gandhian Economic 1.’lan. (f)
Briefly discuss the causes of commercialisation of agriculture.m In@la
during the British rule. (g) What are the implications of ‘1mper;al
preference’ in foreign trade? (h) Point out the main recommendations of

 the ‘Fowler Committee’ about the currency system in India.

Section- B
Marks - 30
2. Answer any three questions: :
(a) Examine the irrigation system that prevailed in Indiaduring
the British rule. In this context, explain the ‘Railway vs Irrigation’
controversy. 6+4
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(b) Explain the causes and consequences of decline of Indig,
handicrafts during the 19th Century. S+

(c) Examine the role of Managing Agency System in the

development of Indian industries during the British period. 10
(d) How did the policy of Discriminating Protection affect the
development of industries in British India? 10

-(e) Critically discuss how did ‘Land ownership structure angd

revenue arrangements’ under the so called Permanent Settlement chan ge
in British India. 10
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